(Yengok:6 Kat) E=1.00
Yengok=21.50 m

(Yencok:6 Kat)

E=1.00
Yengok=21.50 m.

...............

E 1.00
Yancok=23.086m. e . . ®
‘Yeﬂgok b Katz & . .

[ e (B.Bé.A - Igari, Sasyal vegKilltiirel Merkez) it s
E=1.00 e sh ek, s, .
o O Yengok:6 Kal;'"""h e t F, ‘ -7 ‘ i,
} R

oE=1.28 3
Yengok=23.00 m.

*(Yehcok's Kat) *

o

=1.20 I
[V Yenfskzza.bo m* LISE.

. . . " . . .
UA“Z - . . . L - - - - . L] L - L] L] L] - L] . - '] - . - .
. . L] . . L] -/o E=1.20 2
A ) sy e /- . . . = . . . . Yeng'0k=23’.00 e . . . . . . ] .

)

nnnnnnnnnnnnnn



